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23) Rnum=7125044 EventN=6206047 (3 Yu-N[+])
(1) Energy=37.130169 Y=-3.863294 Phi=-0.032283
(2) Energy=34.331055 Y=-3.534596 Phi=-0.109935
M12=0.599 Y12=-3.693 Phi12=-0.076 E12=71.461

SumN(-) = 7 SumN(+)= 16 AN/.6=0.652

North FPD
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24) Rnum=7125052 EventN=2805576 (3 Yu-N[+])
(1) Energy=38.764725 Y=-3.679291 Phi=-0.184185
(2) Energy=32.115822 Y=-3.830655 Phi=0.122564
M12=0.563 Y12=-3.757 Phi12=-0.057 E12=70.881

SumN(-) = 7 SumN(+)= 17 AN/.6=0.694

North FPD
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25) Rnum=7125057 EventN=2209207 (2 Yd-S[+])
(1) Energy=40.947613 Y=-3.583834 Phi=-2.897970
(2) Energy=34.413448 Y=-3.797326 Phi=3.128592
M12=0.624 Y12=-3.684 Phi12=-3.002 E12=75.361

SumN(-) = 7 SumN(+)= 18 AN/.6=0.733

North FPD
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Running Yellow Spin Accumulation | spcntH
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27) Rnum=7126016 EventN=203197 (1 Yu-N[+])
(1) Energy=54.287666 Y=-3.773860 Phi=-0.176972
(2) Energy=24.825663 Y=-3.572048 Phi=0.046251
M12=0.561 Y12=-3.712 Phi12=-0.097 E12=79.113

SumN(-) = 7 SumN(+)= 20 AN/.6=0.802
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28) Rnum=7127092 EventN=1504710 (1 Yu-N[+])
(1) Energy=33.305286 Y=-3.917848 Phi=0.031573
(2) Energy=39.504398 Y=-3.646097 Phi=0.048575
M12=0.451 Y12=-3.761 Phi12=0.042 E12=72.810

SumN(-) = 7 SumN(+)= 21 AN/.6=0.833

North FPD
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28) Rnum=7127092 EventN=1504710 (1 Yu-N[+])

(1) Energy=33.305286 Y=-3.917848 Phi=0.031573

(2) Energy=39.504398 Y=-3.646097 Phi=0.048575

M12=0.451 Y12=-3.761 Phi12=0.042 E12=72.810

SumN(-)= 7 SumN(+)= 21 AN/.6=0.833

Running Yellow Spin Accumulation spcntH
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